@ é ‘ ‘ Multiply decimals by powers of ten

Name: Date: Score:
6.311 x 10 = 2.507 x 1000000 =
9.076 x 1000000 = 3.852 x 1000 =
3.97 x 1000000 = 2.474 x 10000 =
2.379 x 100000 = 2.256 x 100000 =
1.451 x 1000 = 5.127 x 10 =
8.302 x 100 = 9.338 x 10000 =
8.567 x 10000 = 5.623 x 10000 =
1.802 x 10 = 4.038 x 100 =
7.9477 x 10000 = 2.494 x 10000 =
3.898 x 10000 = 4.24 x 1000000 =
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@ é ‘ ‘ Multiply decimals by powers of ten

Name: Date: Score:
6.311 x 10 =63.11 2.507 x 1000000 = 2507000
9.076 x 1000000 = 9076000 3.852 x 1000 = 3852
3.97 x 1000000 = 3970000 2.474 x 10000 = 24740
2.379 x 100000 = 237900 2.256 x 100000 = 225600
1.451 x 1000 = 1451 5.127 x 10 = 51.27
8.302 x 100 = 830.2 9.338 x 10000 = 93380
8.567 x 10000 = 85670 5.623 x 10000 = 56230
1.802 x 10 = 18.02 4.038 x 100 = 403.8
7.947 x 10000 = 79470 2.494 x 10000 = 24940
3.898 x 10000 = 38980 4.24 x 1000000 = 4240000
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